° EXAmg‘G: Giuen H, occuls, Y 15 Binomia\(s:'?- .

Given H, oceurs, Y s Binomial (3,% .

PMF for X~ Blr\omia\(ﬂ,[)): Px(x) =g(?<) Px(l—’:)n-x X =0l ..n
O
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If PYIH-(Y)z wu-l,( )’ pick RH,. If nd, pick Ho. ('b 3"17 ‘/'2 i_?. y=2
G)e v \& r=3
| y= 2,3

O y= 0,1

Ao= 22/33




)
 Exom p‘e b Given Ho occuls, ) TS Binomia‘ ( 3,3
Given H, oceurs, Y s Binomial (3, %

Y= 2,3
y= 0,1
A =12,3)

> Whet 15 the probubilty of error for the ML rule R™ ?
P™= P, P[H] + P, P[H] Not specified in problem shitement.
3 040 do oroblem stlement: P[H]=$ IP[H]=1

=Y Pan(y) = Ry + Ru(3) = 3+ 5= %
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‘ Exom\p|6: Given H. occuls, VY s Binomm\('&,i .

Given H, oceuls, Y s Binomial (3,% .

> Determine MAP rule and probability of error. D™ (y) = é | y=1,2,3
MAP Rule O - O
If Poyu,ly)IPHT 2 P () IP(H.] pick K. If not, pick H,, Y

PFA= Z pYIHo(‘[) - ﬁ””o(l) * erﬂ,(1> * Pvluo(3)
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